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(A)Each bus and tram with a GPS that informs the on board system where the unit is. (A) is
equipped (B) are equipped (C) equips (D) equipped
(A)Is it advisable to leave the house while air ducts by a hired crew? (A) are being cleaned

(B) are clean (C) are cleaned (D) are cleaning
(C)Why did the alarm go off? Someone may
open (B)beopen (C)haveopened (D) had opened

one of the emergency doors by mistake. (A)

(A)The wind is blowing , and there are leaves flying everywhere. (A) hard (B) hardly (C)
very hardly (D) to be hard

(C)The name and phone number of the person the spring convention are enclosed in the email.
(A) organizes (B) organized (C) organizing (D) has organized

(A)Not long after I got home, the office ceiling . (A) collapsed (B) collapses (C) has
collapsed (D) will collapse

(D)This is the man we read in the newspaper. (A) who (B) whom (C) about who (D)
about whom

(B)The reason for her absence was . (A) sick (B) sickness (C) due to sickness (D)

because sickness
(A)If you had told us earlier he was, we could have introduced him at the meeting. (A) who
(B) whom (C) whose (D) whoever

(C)When he came into the office, the HR manager on the phone. (A) talks (B) is talking
(C) was talking (D) talked

(D)The industrial trend is in the direction of more machines and people. (A) less (B) lesser
(C) few (D) fewer

(B)There is a sign at the entrance asking shoppers not pets into the store. (A) bring (B) to
bring (C) bringing (D) brought

(©) missing the flight, passengers are required to arrive at the airport counter during boarding
time. (A)Avoid (B)Avoiding (C)To avoid (D) Avoidance of

(D)It’s ten minutes to ten. We now, or we’ll miss the last train.  (A) have better to go  (B) had
better to leave (C) have better leaving (D) had better leave

(D)We need to go out in five minutes it’s raining. (A) if (B) since (C) because (D)
whether or not

(©) in this way, the situation doesn’t seem so disappointing. (A) To look at (B) Looking at
(C) Looked at (D) To be looked at

(D)I’d rather you anything about it for the time being. (A) do (B) don’t (C) didn’t (D)
didn’t do

(C)A membership card authorizes the club’s facilities for a period of 12 months. (A) the
holder using (B) the holder’s use (C) the holder to use (D) the holder uses

(D)In our work it is unusual to be confronted with failures but we should in no way be
discouraged on that account. (A) everything (B) something (C) anything (D) nothing

(B)No sooner home than the telephone rang. (A) he had got (B) had he got (C) his getting
(D) he went
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